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package question;
import javax.swing.JOptionPane;
public class Quel {

public static void main((String[] arg=s) {
new Juel () .starc():

vold start(){
String inputlk = JOptionPane.showInputDialog("10 BMEEHE A,
String inputB = JOptionPane.showInputDialog("2D BHMEEEF A m)
int a = Integer.parselint{inputhi):;
int b = Integer.parselint(inputB):;

for(int i = 0; i < 6; i++){
System.ocut.printlni{a + b):
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package question;
import javax.swing.JOptionPane;
public class Quel? {
public static void main(String[] args) {

new (uel().start();

volid start(){
String input = JDptir:unPane.sh-rJFIan:tDiai-Dg(".'LDCIL}UZ@%@%)&}"_I"];
int wvalue = Integer.pars=sInt{input);

System.out.println(value + "DEDME" + ((value % 1000) / 100) + "POE" + ((value % 100) / 10)
+ "—DOfEd" + (value % 10));
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backage question;
pubklic class Que3d {
= pubklic static void main(String[] args) 1

new uel().=startc():

- void start(){
for(int i = 1; i < 101; i++){

if((i % 153) == 0)1{
System.out.println ("YU ;
tel=se 1if((1i % S) == 0)1{
System.out.println("ifilm) ;
telse if((i % 3) == 0}
System.out.println("/§m) ;
lelsed

System.out.println(i):



